






































Discrepancies between the theory about performance. 
 
 

Now compare the results of these simulations with the empirical 

puzzles.  Does the theory as implemented empirically by this model 

explain why investment is so strong and government spending was  

rising in the 1980s?  Only partially.  In real terms, the model shows 

now a slower rate of increase in government purchases would have led to 

a much smaller real trade deficit and a higher level of real  

national savings.  But the model also predicts that real investment 

would be higher (though not as much as in a closed economy) if 

government spending had not increased so rapidly.  Hence, except for 

showing why the negative effects of these deficits on investment are 

small, the model does not explain why investment was far above normal 

levels in the mid-1980s.   

 In nominal terms the simulation gives mixed results in  

explaining the puzzles of the mid 1980s.  It is successful in showing 

that nominal investment falls more than real investment when the budget 

deficit rises, but it does not explain why nominal saving falls more 

than real saving.  On the contrary the model predicts a smaller fall 

in the nominal saving rate than in the real saving rate.  This 

difference also shows up in the real net export results, as it must 

because of the accounting identity.   Regarding to the model, nominal 

net exports should have fallen more than real net exports in response 

to the budget deficits.  Accordingly, both nominal and real net exports 

fell by the same amount.  There has been some very recent evidence that 

as the dollar has depreciated, real net exports have improved by a 

larger amount than nominal net exports as the model would predict, 
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